B.SC. VISEM
DSE I - MATHEMATICS
PAPER - INTEGRAL TRANSFORM

HOME ASSIGNMENT
MM: 20

Section-A 1x2 = 2 marks

1. Find the inverse Laplace Transform of the following.
PRl #1 S A FICATE T A el
3 1 ' \fﬁ-‘l 2
i —; i (G5

Section — B 2 marks
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Section — C 3x2 = 6 marks
3. Find the inverse Laplace Transform of the following.
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AR ARV Section-D‘ - 7 o e =10 marks
4. Show that by convolution theorem (Haelet 57T & galfew)
i Where n=1,2,....
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6. Apply Convolution theorem to prove that
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Hence deduce that

/2 1 rmr
- f sin®™=10 cos?"10d6 = > B(m,n) = men
0

2Im+n

s vibliie s — . o v oA . g (S e « Ases ABR 7 Ve



